
Paradigm for Perfect Last Root Letter is t

Ubt�2�1 Ub �j	b
t h �,t�2�1 h �b
t

      

o �,t�2 �1 o �T 	t �,t�2�1 v�T 	t

              <  

i �,t�2 �1 i �T 	t ,t�2�1 �T 	t

             <      

Ut �2�1 v �N �v t�2�1 tUv

       

Ut �2�1 vB �v v�t �2�1 th �v

            <  

1 represents the first root letter of a verb (k�gIP 	v wp)
2 represents the second/middle root letterof a verb (k�gIP 	v wg)
3 represents the third/last root letter of a verb (t"k)

Note that the aleph often has no vowel under it
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